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T.Y. B.Com. Examination, 2011
BUSINESS REGULATORY FRAMEWORK (M. Law)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) : 20
1) What isvoid contract ?
2) What is mistake of fact ?
3) Define ' contingent contract’.
4) What isAnticipaory Breach of contract ?
5) Define *Contract of Guarantee'.
6) Define‘Contract of Bailment’.
7) What issymbolic delivery ?
8) Define ‘Goods under Sale of Goods Act, 1930.
9) What do you mean by ‘drawee in case of need’ ?
10) Definetheterm ‘Negotiable Instrument’.
11) Define‘complainant’ under Consumer Protection Act, 1986.
12) What ispartnership at will ?
13) Whoisdleeping/Dormat partner ?
2. Answer the following questions in 50 words each (any two) : 10
1) Statethe characteristicsof valid consideration.
2) What arethe kinds of Bailment ?
3) Explain the essential elements of contract of sale of goods.

4) Explaininbrief the effectsof non-registration of partnership firm.

P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20
1) Explain the concept of ‘fraud’ under Indian Contract Act, 1872.
2) Explainin brief therulesasto Delivery of Goods.
3) Explaintherightsof partners.

4) Definetheterm ‘Promissory Note'. Explain essential elements of Promissory
Note.

4. Answer the following questions in 300 words each (any two) : 30
1) Definecontract’. Explain essentials of valid contract.

2) Whoisunpaid seller ? Explain therights of unpaid seller under Sale of Goods
Act, 1930.

3) Explain the Consumer Grievance Redressal Machinery under the Consumer
Protection Act, 1986.

4) What is*Endorsement’ of anegotiable instrument ? Explain various kinds of
endorsements.
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T.Y. B.Com. Examination, 2011
ECONOMICS

International Economics
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) Attempt all questions.
ii) Figures to the right indicate full marks.
iii) Draw neat diagrams wherever necessary.
iv) Answer should be precise and to the point.
1. Answer the following questionsin 20 words each (any ten) : 20
1) Definelnternational Trade.
2) What is meant by opportunity cost ?
3) What are the dynamic gains of trade ?
4) What is meant by Euro dollar ?
5) Givethefull form of GATT.
6) What is meant by terms of Trade ?
7) Define Balance of Payments.
8) DefineForeign Exchange Rate.
9) What is Direct Exchange Control ?
10) Define Foreign Private Investment.
11) Definelmport Palicy.
12) What isInternational Labour Migration ?
13) Defineconvertibility of Indian rupee.

2. Answer the following questionsin 50 words each (any two) : 10
1) State the objectives of SAARC.
2) What are the factors determining terms of Trade ?
3) Explaintheroleof foreign capital in development.
4) What are the effects of Indian deficit Balance of Payments ?

P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20
1) Explaintherelation between the International Trade and economic growth.
2) Explain the functions and problems of World Trade Organization.
3) Explainthe merits and demerits of Fixed Exchange Rate.
4) Discuss the Purchasing Power Parity Theory.
4. Answer the following questionsin 300 words each (any two) : 30
1) Critically examine the Ricardo’s theory of comparative cost.
2) State and explain the argument for and against protection trade policy.
3) Discussthe direct and indirect methods of foreign exchange control.

4) What are the causes of disequilibrium in the balance of payments, suggest the
measures to correct it ?
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T.Y. B.Com. Examination, 2011
COST AND WORKS ACCOUNTING - II (Special Paper - II)
(Overheads and Methods of Costing)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Use of calculator is allowed.

1. A) State whether the following statements are True or False (any five) : 5
1) Fixed overhead cost per unit remains fixed when output level changes.

2) Re-apportionment of service department’s cost is known as secondary
distribution of overhead.

3) Practical capacity = Maximum capacity — Normal 10ss
4) Work certified is shown in Contract Account at cost.

5) When thereis anotional 1oss on an incomplete contract, transfer to Profit
and loss account depends upon the degree of completion of the contract.

6) Operating cost statement isprepared to cal culate the cost in case of service
costing.
B) Fill inthe blanks (any five) : 5

1) When absorbed overheads are Rs. 17,000 and actual overheads are
Rs.18,000, there is absorption of Rs. 1,000.

2) of overheadsisthe process of charging the full amount
of overheads to a particular cost centre.

3) is the allotment of proportion of item of cost to cost
centre or cost unit.

4) Where the actual loss in a process is less than the anticipated loss, the
difference between the two is considered to be

5) contract provides for payment of actual cost plus
astipulated profit.

6) Given the cost of production of a job Rs. 33,000 and profit percentage
25% on sales, the profit would be Rs. :

P.T.O.
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2. Write short noteson : 15
I) Variableoverheads
ii) Labour Hour Rate
i) Capacity Cost

3. What isJob Costing ? Explainitsfeatures. What are the basi c differences between
Job Costing and Process Costing. 15

OR
Write short notes on (any three) :
I) Retention money
i) Abnormal effectivesin process costing
i) Escalation clause in Contract Costing
Iv) Inter-process profit
V) Features of Operating Costing.

4. A company has three production departments (A, B and C) and two service
departments (D and E). Thefollowing figures are extracted from the books of the

company. 20
Rent Rs. 20,000
Indirect wages 6,000
Depreciation 40,000
Lighting 2,400
Power 6,000
Others 40,000

Other particulars:
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The expenses of service departments D and E are to allocated as follows :

You arerequested to distribute the service department expensesto the production
departments under Simultaneous Equation Method and calculate hourly rate

of each production departments.

. X Ltd. isengaged in two contracts, A and B during the year. The following

informationisavailableat 31% Dec. 20009. 20
Date of Commencement 1stApril, 2009 1% Sept., 2009
Contract Price 6,00,000 5,00,000
Materialsdeliveredto site 1,20,000 50,000
Material issued from store 40,000 10,000
Material returned to store 4,000 2,000
Material on site 31 Dec. 2009 22,000 8,000
Direct labour payments 1,40,000 35,000
Direct expenses 60,000 30,000
Architects's fees 2,000 1,000
Establishment charges 25,000 7,000
Plant installed at cost 80,000 70,000
Value of Plant on 31% Dec. 2009 65,000 64,000
Accrued wages 31% Dec. 2009 10,000 7,000
Accrued expenses 31% Dec. 2009 6,000 5,000
Cost of contract not certified by architect 23,000 10,000
Value of contract certified by architect 4,20,000 1,35,000
Cash received 3,78,000 1,25,000
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During the period, materials amounting to Rs. 9,000 have been transferred from
contract A to contract B. You are required to show,

a) Contract A/cs

b) Contractee’s A/c and

c) Extract from Balance Sheet as on 315 Dec. 2009 showing the calculation of

WIP.
OR

From the following datarelating to two different vehiclesA and B, compute the

cost per running mile:

Mileagerun (annual)

Cost of vehicle

Road licence (annual)
Insurance (annual)
Garagerent (annual)
Supervision and salaries (annual)
Driver’s wages per hour
Cost of fuel per litre
Milesrun per litre
Repairs and maintenance
Tyreallocation per mile
Estimated life of vehicles

Chargeinterest at 5% per annum on cost of vehicle. The vehiclesrun 30 milesper

hour on an average.

Vehicle A
15,000 miles
Rs. 5,00,000

Rs. 7,500
Rs. 7,000
Rs. 6,000
Rs. 12,000
Rs. 30

Rs. 40
20miles
Rs. 16.5
Rs. 8

1,00,000 miles

Vehicle B
6,000 miles
Rs. 4,00,000
Rs. 7,500
Rs. 4,000
Rs. 5,000
Rs. 12,000
Rs. 30
Rs. 40
15 miles
Rs. 20
Rs. 6
75,000 miles

20

B/l/11/1,455
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T.Y. B.Com. Examination, 2011
BUSINESS ENTREPRENEURSHIP (Paper —1I)

(Enterprise Creation and Venture Planning)
(2004 Pattern)

Time: 3Hours Max. Marks: 80
N.B. : All questions are compulsory.

1. Answer in 20 words (any ten) : 20
1) State four sources of ‘Market Information’.
2) What isMarketing feasibility of the project ?
3) What is Tax Deducted at Source (T.D.S.) ?
4) What do you mean by ‘ Entrepreneurship Development” ?
5) What is*MahilaUdyam Nidhi’ ?
6) What is‘Term Loan’ ?
7) What is‘Risk Management’ ?
8) What is‘Minimum WagesAct’ ?
9) What is‘ Seed Capital’ ?
10) State four forms of organisation for business.
11) State four advantages of Registration of Small Scale Industry.
12) What is Project Appraisal ?

13) State four factorsto be considered for selecting suitable agency for Financial
assistance.

2. Answer the following questions in 50 words (any two) : 10
1) Statethe need of incentivesfor ‘Small Scale Industries'.
2) What istechnical feasibility of report ?
3) Statethe objectivesof SIDBI (Small Industries Development Bank of India).
4) What arethelimitationsof Break EvenAnalysis?
P.T.O.
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3. Answer the following questionsin 150 words (any two) : 20

1) Write detailed note on ‘Maharashtra Industrial Development Corporation
(MIDC).

2) Explain how Govt. of Maharashtrais promoting self employment.
3) Write note on Critical Path Method (C.PM.)
4) State the importance of Financial Management in the success of business.

4. Answer the following questionsin 300 words (any two) : 30
1) Narrate life sketch of Late Shri Tatyasaheb Kore of Warananagar.
2) Explainindetail seven businesscrisisfaced by industries.
3) What is‘Project Report’” ? Explain its importance in the success of business.

4) Evaluatetherole of ‘Maharashtra Centre For Entrepreneurship Devel opment’
(MCED) in the promotion of self employment.
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T.Y. B.Com. Examination, 2011
BUSINESS LAWS AND PRACTICES -11I
(Special Paper - II)

(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : 20
1) Define the word ‘Worker’ as per the Factories Act, 1948.
2) State disqualification of Factory Inspector.
3) Definetheterm “Factory” as per the payment of WagesAct, 1936.
4) Definetheword ‘Registrar’ under Trade Union Act, 1926.
5) What is meant by ‘ maximum bonus' as per the Bonus Act, 1965 ?

6) What do you mean by permanent partial disablement ? (As Per Workers
Compensation Act, 1923).

7) Define‘Strike' as per Industrial DisputesAct.
8) Define‘Award’ as per Industrial DisputesAct, 1947.
9) Namethe varioustypes of pollutionsthat affect the environment.

10) Definetheword “Emission” as per Air (Prevention and Control of Pollution)
Act, 1981.

11) Define the term ‘ Sewage Effluent’ as per Water (Prevention and Control of
Pollution) Act, 1974.

12) Definetheword ‘Environment Pollutant’ as per the Environment (Protection)
Act, 1986.

13) What do you mean by conservation of Environment ?
P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10

A) Who isresponsible for payment of wages under payment of WagesAct ?
B) What is meant by “Allocable Surplus’ (As per BonusAct, 1965) ?

C) Listthesalient principlesgoverning the sustainable devel opment.

D) What are the objectives of the Environment (Protection) Act, 1986 ?

3. Answer the following questionsin 150 words each (any two) : 20

4.

1.

A) Explaintherightsand privileges of aRegistered Trade Union.
B) Explain the concepts of ‘Lay-off’ and ‘ Retrenchment’.

C) Explain Constitution and functions of Central Pollution Board as per Air
(Prevention and Control of Pollution) Act, 1981.

D) Briefly explainthe causesfor environmental degradationin India.

Answer the following questions in 300 words each (any two) : 30

A) Explain the machinery provided under the Industrial Disputes Act, 1947 for
settlement of industrial disputes.

B) Explain provisionsregarding ‘ Safety’ as per FactoriesAct, 1948.

C) Explain the powers of Central Government and State Government under the
Air (Prevention and Control of Pollution) Act, 1981.

D) What do you mean by water pollution ? Give the causes and effects of water
pollution.
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T.Y. B.Com. Examination, 2011
BUSINESS ADMINISTRATION - III
(Special Paper — I1I)
(Production and Marketing Functions)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : 20

1) What is* Production Management” ?
2) What is* Intermittent Production” ?
3) Definetheterm*® Simplification”.
4) State any two reasons of Product Elimination.
5) What is centralised stores ?
6) Definemateria handling.
7) Stateany four material handling equipments.
8) What is Production Planning ?
9) Definetheterm*Marketing”.

10) State any four advantage of Advertising.

11) What ismarket segmentation ?

12) What is Product Mix ?

13) What is“Marketing Research” ?

2. Answer the following questions in 50 words each (any two) : 10
1) Explainin brief the types of Marketing Research.
2) Explainthe bases of market segmentation.
3) Writeanote on future of Advertisingin India.

4) Write a note on Production scheduling. P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20
1) Explainthe principlesof scientific purchasing.
2) Explaintheuseof computersin Materials Management.
3) Explainthequalities, dutiesand responsibilities of Marketing M anager.

4) Explainthefactorsaffecting on pricing policy. Describethe alternative pricing
strategies used by producers.

4. Answer the following questions in 300 words each (any two) : 30
1) Explainindetailsthetypesof Indirect Advertising.
2) Explainthe objects, importance and methods of material handling.

3) Explain the characteristics, advantages and disadvantages of continuous and
discontinuous (Intermittent) types of production.

4) Explainindetailsthefactorsof Marketing Mix.
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T.Y. B.Com. Examination, 2011
COST AND WORKS ACCOUNTING -1III
(Special Paper — III) (2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Use of calculator is allowed.

1. A) Fill inthe blanks (any five) : 5

I) Theuseby severa undertakings of the same costing principlesand practices
IS the essence of costing.

i) Material price varianceis a part of variance.
i) Margin of safety is the excess of actual sales over sales.
V) contains a summary of all functional budgets.

V) Is a careful layout of the exact details of the work to be
performed by the cost auditor.

vi) Cost audit is the verification of the of cost accounts.

B) State whether the following statements are true or false (any five) : 5

1) Inter-firm comparisonisatool of self control and self improvement for the
management.

ii) In cost accounting marginal costing does not include fixed cost.
i) Efficiency audit isthe same as propriety audit.

Iv) Cost audit may be undertaken by a Chartered Accountant.

v) The act of preparing a budget is known as budgeting.

vi) Cost audit helpsinventory valuation.

2. DefineUniform Costing. Explain therequisitesfor installation of auniform costing
system. 15

P.T.O.
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3. What isCost Audit ? In what respect cost audit isdifferent from cost investigation? 15
OR

Write short notes on (any three) : 15
a) Cost Accounting Standards

b) Cost Audit Notes

c) Appointment of cost auditor

d) Cost Audit (Report) Rules

€) Cost Audit Procedure.

4. Two firms ‘A’ Company and ‘B’ Company sell the same type of product in
the same market. Their budgeted profit and loss accounts for the year ending

318 March 2010 are asfollows: 20
Particulars ‘A’ Co. ) ‘B’ Co. )
Sales 7,950,000 9,00,000
Less: variable cost 6,00,000 6,00,000
1,50,000 3,00,000
Less: fixed cost 45,000 1,05,000
Net Profit 1,05,000 1,95,000

You arerequired to :
1) Calculatethe P/V Ratio and BEP of each firm.
2) Statewhichfirmislikely to earn greater profitsin condition of :

1) Heavy demand for the product

i) Low demand for the product.

OR
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The expenses at 100% capacity in afactory are given asfollows: 20
Particulars At 100% Capacity (%)

Materids 6,00,000

L abour 2,00,000

Variable expenses (direct) 40,000

Variableoverheads 2,00,000

Fixed overheads 80,000

Administrative expenses (fixed) 40,000

Selling expenses (10% fixed) 1,20,000

Distribution expenses (20% fixed) 60,000

Prepare a budget for the production of : 60% capacity and 80% capacity.

5. The standard mix to produce one unit of product is as follows:: 20
Material ‘A" 60 units@3 15 perunit ¥ 900
Materia ‘B> 80 units @3 20 per unit ¥ 1,600
Material ‘C’ 100 units @3 25 per unit ¥ 2,500
240 units % 5,000

During the month of March, 10 units were actually produced and consumption
was as follows :

Material ‘A" 640 units @ 17.50 per unit ¥ 11,200

Material ‘B’ 950 units @3 18 per unit ¥ 17,100
Material ‘C’ 870 units @ 27.50 per unit ¥ 23,925

2460 units X 52,225
Calculate:

1) Material cost variance
i) Materia pricevariance
i) Material usagevariance
Iv) Material mix variance
v) Materia yield variance.

B/I/11/1,820
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T.Y. B.Com. Examination, 2011
BANKING AND FINANCE - 111
(Special Paper — I1I)
(Banking Law and Practice in India)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any 10) : 20
1) Definea‘Banking Company’ as per the Banking RegulationAct, 1949.
2) Define secured and unsecured loan as per the Banking Regulation Act, 1949.
3) Who isaDrawer in case of acheque ?
4) Define‘Negotiable Instrument’ as per the Negotiable InstrumentsAct, 1881.
5) Define endorsement as per the Negotiable InstrumentsAct, 1881.
6) Who isacollecting banker ?
7) Spell out two stages in which Garnishee order isissued.

8) Spell out any two circumstances wherein disclosure about a customer’s
account is permitted.

9) Spell out any two prominent reasons why a banker-customer relationship can
come to an end.

10) Spell out the two relations between a banker and a customer, other than the
debtor-creditor.

11) What ispledge ?
12) Define‘Default’ as defined under the SecuritisationAct.

13) What is‘Usufructuary Mortgage' ?
P.T.O.
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2. Answer the following questions in 50 words each (any 2) : 10

1) Spell out the provisions of the Banking Regulation Act, 1949 relating to cash
Reserves of Non scheduled banks.

2) Spell out the punishments associated with the dishonour of a cheque.

3) “Physical security of an asset may not be a sufficient condition for aloan to
be secured” . Explain.

4) Spell out in detail the meaning of hypothecation.

3. Answer the following questionsin 150 words each (any 2) : 20
1) Spell out in detail the features of cheque.

2) Writein short the precautions a paying banker must take while honouring his
customers cheques.

3) Spell out in detail the precautions abanker must take while advancing against
shares.

4) How do you distinguish between ‘Pledge’ and * Mortgage' ?
4. Answer the following questionsin 300 words each (any 2) : 30

1) Write a detailed note on the Licensing provisions of a Banking Company as
per the Banking RegulationAct, 1949.

2) Explainindetail ‘Noting’ and ‘ Protest’. Writein detail the contents of protest.

3) What is‘Right of set-off’ ? Under what conditions can a banker exercise his
right of set off ?

4) Write adetailed note on various stepsinvolved in Project appraisal.
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T.Y. B.Com. Examination, 2011
DEFENCE BUDGETING, FINANCE AND MANAGEMENT -1II

Special Paper — III : Financial Management in Defence
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
ii) All questions carry equal marks.
1. Answer in 20 words (any ten) : (2x10=20)
1) Define Threat Perception.
2) What do you mean by ‘ Financial Management’ ?
3) State the meaning of ‘ Zero Base Budgeting'.
4) What do you mean by deficit finance ?
5) How would you define ‘War Finance' ?
6) What do you mean by ‘Free Market Economy’ ?
7) Write any two importance of ‘ Financial Planning’.
8) State any two limitations of estimates.
9) Writethe meaning of Budget Control.
10) State any two roles of Defence Accounts Department.
11) What do you mean by performance budgeting ?
12) What are the sources of War Finance ?
13) Define Economic War.

2. Answer the following questionsin 50 words each (any two) : (2x5=10)
1) Explainfunctionsof Financial Planning.
2) Discuss advantages of Free Market Economy.
3) Explainthe structure of the Ministry of Finance.
4) Discuss Managerial Economics.

P.T.O.
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3. Answer the following questions in 150 words each (any two) : (2x10=20)
1) Writetherole of Parliament in financial matters of theArmed Forces.
2) How isthe defence budget executed ? Explain.
3) Explain effects of war on Economy.
4) Writeanote on limitations and challengesto Defence Management.
4. Answer the following questionsin 300 words each (any two) : (2x15=30)
1) Writeanote on therole of Auditor General in Government Financial System.
2) Establish relationship between war and economy.
3) Describe structure of Defence Budget.
4) Write the purpose, process and objectives of costing in Armed Forces.
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T.Y. B.Com. (Vocational) Examination, 2011
(Paper - VI)
ENTREPRENEURSHIP DEVELOPMENT
(Common to Computer Application — VI)
Advertising, Sales Promotion and Sales Management — VI
(2004 Pattern)

Time: 3Hours Max. Marks: 50

N.B. : 1) All questions are compulsory.
2) The figures to the right indicate full marks.

1. Giveastandard definition of ‘Entrepreneur’. Explainin detail thevariousskills

required for successful entreprenedr. 12
OR
Describe different motives which are possessed by an entrepreneur. 12

2. What is‘Project Report’ ? Explain the structure of project report for abusiness. 12
OR

Explain the various factors required to be considered while selecting the

organisation structure. 12

3. Givethedefinition of ‘Small Scale Industry’. Explain theimportance of SSI in

Indian Economy. 12
OR

What is marketing strategy ? Describe the various marketing strategies. 12

4. Write notes on (any two) : 14

1) SWOT analysis

2) Break evenanalysis

3) Characteristics of ‘Joint Stock Company’
4) Role of DIC.

B/1/11/180
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T.Y. B.Com. Examination, 2011
ADVANCED ACCOUNTING
(2004 Pattern)

Time: 3 Hours Max. Marks: 80

Instructions : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

iii) Use of calculator is allowed.

1. A) Fill inthe blanks (any six) : 6
1) The Banking Company cannot hold non banking assets permanently but
will have to dispose them off within a period of years from
the date of their acquisition.
ii) Legal fees with respect to claim is shown in account.

i) The fixed expenses which are to be paid irrespective of reduction in sales
are known as

Iv) Brokerage and stamp duty are capital in nature and hence at the time of
purchase of investment it should be the cost of investment.

v) Anideal current ratio is
vi) In Departmental AccountsTravelling Expensesare allocated on the basis of

vii) Stock and Debtors System is also known as method.

viii) Sugarcane consumed by livestock is debited to account and
credited to account.
IX) In the absence of the arithmetic accuracy of books cannot be
checked.
X) Bills receivable dishonoured isto be recorded on side of Total

Debtors Account.

P.T.O.



B) State whether the following statements are True or False (any four) : ()]
I) Claims does not include management expenses.

i) Earning ratio or Indemnity ratio which is higher is to be considered for
calculating loss of profit.

i) Under Stock and Debtors System Branch Adjustment Account discloses
the profit or loss made by the branch.

Iv) From the Departmental Accounts profit of the entire business cannot be
calculated.

v) Cash Account may have either debit or credit balance.

[3969] - 32 -2-

2. FollowingistheTria Balance of Satyam Bank Ltd., Hyderabad ason 31-3-2010.
You are required to prepare Profit and Loss Account for the year ended 31-3-2010
and Balance Sheet as on that date in the prescribed form.

Trial Balance

Particulars Debit Credit
Rs. Rs.

Share Capital

30,000 Equity shares of Rs. 100 each fully paid 30,00,000
Statutory Reserve Fund 1,27,500
Profit and Loss A/c (1-4-2009) 1,22,250
Current Deposit Account 32,16,000
Fixed Deposit Account 35,14,500
Saving Bank Account 16,60,500
Directorsfees 13,950

Audit fees 13,200

Furniture 1,28, 850

Insurance 4,050

Interest 6,00,600

Commission and exchange 3,04,500
Loan, cash credit and overdrafts 45,73,500

Interest and discount

10,56,000
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6% Government Bonds 30,60,000
Shares in companies 12,00,000
BranchAdjustment 3,06,000
Postage and printing 10,350
Premises 25,54,500
Salaries 1,00,500
Law charges 7,950
Provident fund contribution 16,800
Cashin hand 3,10,500
Bill discounted and purchased 1,00,500

1,30,01,250  1,30,01,250

Additional Information :
I) Rebate on bills discounted amounted to Rs. 10,650
ii) Provide Rs. 57,750 for Doubtful Debts.

i) The bank has accepted bills worth Rs. 13,75,000 on behalf of the customers
against the securities of Rs. 14,50,000 lodged with the bank.

Iv) Provide depreciation on premises Rs. 1,09,500, and on furniture Rs. 8,850.

v) Provide for Taxation Rs. 11,250.

vi) Postage stamps of Rs. 8,000 were in hand on 31-3-2010. 20
OR

The premises of Ghanshyam were destroyed by fire on 30-9-2009. From the
available records the following figures were extracted. Prepare a statement of
claim in respect of the loss of stock for the submission to the Insurance Co. The
firm closes its books on 31% March every year.

Particulars 2006-07 2007-08 2008-09 As on 30-9-09
Rs. Rs. Rs. Rs.

Opening stock 20,000 22,000 11,800 34,020

Purchases 1,78,000 1,50,000 1,77,000 36,000

Sales 2,22,000 2,02,500 1,93,500 28,000
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Purchases Return

Return Inward
Freight Inward

Closing stock

On 31-3-2007, while valuing closing stock, aslow moving item costing Rs. 5,000
was valued at Rs. 4,000. This was sold for Rs. 4,500 on 30" September, 2007.
On 31% March, 2008 an item costing Rs. 6,000 waswrongly valued at Rs. 7,000.
This was sold for Rs. 5,500 on 30" November, 2008. On 31% March, 2009
another slow moving item costing Rs. 12,000 was valued at Rs. 10,000, 50% of
which was sold before 30" September, 2009 for Rs. 6,000. The value of salvage was

Rs. 8,000. The amount of Policy was Rs. 40,000 and there was an average clause

inthe policy.

3. A) Sunita Investment Ltd., Pune held on 1% April, 2009, Rs. 1,20,000 12%
Government of IndiaBondsat Rs. 1,25,000. Interest is payable on 1% January

and 1% July every year. Thefollowing transactionstook place during the year

2009-10.
1-5-2009
1-8-2009
1-12-2009
31-1-2010
28-2-2010

Brokerage is paid at 2% on purchases and sales of securities. Prepare 12%
Government of IndiaBondsAccount ason 31 March, 2010 on FIFO method

18,000 5,000 7,000
22,000 4,000 6,000

5,000 3,000 5,000
22,000 11,800 34,020

1,000
2,000

1,000

Purchase Rs. 50,000 cum-interest at 2% discount

SalesRs. 1,00,000 Ex-Interest at 6% premium

Purchase Rs. 50,000 Ex-interest at 10% discount

SalesRs. 20,000 Cum-interest at 5% premium
SalesRs. 70,000 Ex-interest at 8% premium.

with detailed working notes.

20

15
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B) Thefollowing arethe summarised Profit and L ossAccount of Shweta Product

Ltd., Punefor the year ending 31% March 2010 and Balance Sheet as on that
date.

Profit and Loss A/c
For the year ending 31-3-10

Rs. Rs.
To Opening stock 99,500 By Sales 8,50,000
To Purchases 545,250 By Closing stock 1,49,000
To Carriage Inward 14,250
To Gross Profit 3,40,000
9,99,000 9,99,000
To Operating Expenses By Gross Profit 3,40,000
Administration 1,50,000 By Non operating Incomes
Selling 30,000 Interest 3,000
Distribution 15,000 Profit on sale of
To Non operating expenses shares 6,000 9,000
Losson saleof Assets 4,000
To Net Profit 1,50,000
3,49,000 3,49,000

Balance Sheet as on 31-3-10

Liabilities Rs. Assets Rs.

| ssued capital Land and building 1,50,000

2,000 Eqt. Sh. of Rs. 100 each2,00,000 Pant and machinery 80,000

Reserves 90,000 Stock intrade 1,49,000

Current liabilities 1,30,000 Sundry debtos 71,000

Profit and Loss A/c 60,000 Cash and Bank balance 30,000
4,80,000 4,80,000

From the above statementsyou are required to cal culate the following ratios.

a) Currentratio b) Operatingratio

c) Stock turnover ratio d) Gross profit ratio

€) Net profit ratio. 15
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4. A) Fromthefollowing Trial Balance of Shri Gajanan More, afarmer, prepare

1) Crop account

2) Live Stock Account for the year ended 31-3-2010.
3) Balance sheet as on that date.

Trial Balance

Particulars

Opening Stock (1-4-09)
Paddy
Potatoes
Cattle
Sheep
Purchases during the year
Feed
Sheep
Cattle
Seeds
Manures

Crop Expenses :
L abour
Other Expenses

Live-stock Expenses
Medicines, etc.
L abour
Dairy expenses
Expenses of Machinery
Repairs
Diesel and ail
Electricity
General Overheads
Rent and taxes
Insurance

1,00,000
40,000
60,000

60,000
1,00,000
40,000

Debit
Rs.

1,00,000
1,60,000
2,00,000
1,40,000

2,00,000
2,00,000
16,00,000

1,00,000
2,00,000

1,40,000

2,00,000

2,00,000

2,00,000
40,000

Credit
Rs.
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L abour 1,60,000

Bank Interest 1,00,000

Manager’ssalary 4,20,000

Farm Machinery 20,00,000

Land 40,00,000

Cash in hand 2,00,000

Cash at Bank 6,00,000

Sales :

Paddy 6,80,000

Potatoes 4,80,000

Sugarcane 6,80,000

Cattle 20,80,000

Milk, etc. 4,80,000

Sheep 6,00,000
Loan from Land Development Bank 17,40,000
Capital 40,00,000
Creditors 4,00,000
Manager’s Personal Account 20,000

1,11,60,000 1,11,60,000
Additional Information :
I) Closing stock on 31-3-2010

Paddy Rs. 2,00,000, Potatoes Rs. 1,20,000, Cattle Rs. 3,00,000 and sheep
Rs. 2,00,000.

i) 50% of Rent may be taken as the share at Shri. Gajanan More for his
residence.

i) Manager’'s salary is to be allocated to Livestock and crop in the ratio of
4:3. No portion of his salary remained outstanding at the end of the year.
Other general overheads are to be charged to crop account.

Iv) Shri Ggjanan More has consumed the following :

Milk, etc. Rs. 40,000, Potatoes Rs. 20,000 and Paddy Rs. 1,40,000.
v) Manager has consumed the following during the year.

Milk, etc. Rs. 20,000, Potatoes Rs. 10,000.
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vi) Manager is entitled to acommission at 1% on sales relating to Livestock
section only.

vii) Provide 10% depreciation on Farm Machinery.
viil) Farm Product worth Rs. 17,000 is consumed by Livestock. 15
OR

From the following particulars relating to Pune Branch, prepare Pune Branch A/c
and Branch Trading and Profit and LossA/c in the books of Laxmi Corporation,
Mumbai, the Head office.

Rs.
Stock at Branch on 1-4-09 90,000
Petty cash at Branch on 1-4-09 3,000
Branch debtors on 1-4-09 2,30,000
Goods from Head office 5,70,000
Goods returned by customers 5,000
Total sales 8,00,000
Cash sales 2,40,000
Goods returned to Head office 7,000
Allowances to customers 3,000
Discount allowed to customers 23,000
Bad debts 4,000
Rent and Rates 18,000
Salaries and Wages 52,000
Petty expenses by the Branch 15,000
Stock at Branch on 31-3-10 1,20,000
Branch debtors on 31-3-10 2,40,000
Petty cash on 31-3-10 2,000
Pilferage of goods at Branch 12,000

Pune Branch sells goods for cash and on credit the goods supplied by the Head
office a cost. All cash received by the Branch is remitted to the Head office.
Branch expenses are paid by the Head office excluding Petty expenseswhich are
paid by the Branch for which periodical transfers are made from the Head office. 15

B) Write short note (any one) :
1) Limitationsof single entry system.
i) Allocation of Departmental expenses. 5

B/l/11/4,585
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T.Y. B.Com. Examination, 2011
ECONOMICS

(Indian and Global Economic Development)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) : 20
1) Define‘Economic development’.
2) State any two features of less developed country.
3) What isAgricultural Productivity ?
4) State any two constraintsrelated to Agricultural development in India.
5) What isIndustrialisation ?
6) What isIndustrial Liberalization ?
7) Define*Capital Market'.
8) What isdisguised unemployment ?
9) DefinePlanning.
10) Define‘Human Resource Development’.
11) State the full form of ‘SAARC'.
12) What is‘Exchange Rate' ?
13) State any two types of foreign investment.
2. Answer the following questions in 50 words each (any two) : 10
1) Statetherole of agriculturein Indian economy.
2) Statetherole of industrialisation in economic development.
3) What is‘Euro-Dollar Market’ ?

4) What ispartial convertibility of Indian rupee?

P.T.O.
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3. Answer the following questionsin 150 words each (any two) : 20
1) Explaintheindicators of economic development.

2) Explaintheimportance of the public Sector in India.
3) Explain the objectives and problems of SAARC.
4) Explaintherole of foreign capital in economic development.

4. Answer the following questions in 300 words each (any two) : 30
1) Explain the features of Indian Economy as aless devel oped economy.
2) Discussthe need and objectives of planning in India.
3) Explainthe objectives and functions of 1.M.F.

4) Discussin detail the objectives, functions and problems of WTO.
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T.Y. B.Com. Examination, 2011

[3969] — 36

BUSINESS ADMINISTRATION - II (Special Paper — II)

(2004 Pattern)

Time: 3Hours

N.B. : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. Answer in twenty words each (any ten) :

a ProRataAllotment
b) Meaning of Buy Back
c) Equity shares

d) Leasing

€) Head Hunters

f) Welfareactivities
g) V.R.S.

h) N.S.C.

I) Preference shares
) Flexitiming

K) Self appraisa

) ODD Lot
m) U.T.I.

2. Answer in fifty words each (any two) :

a) Statethe meaning of Job Evaluation.

b) What istheimportance of Employee Morae?
c) Define‘Listing of Shares'.

d) Examplesof Labour WelfareActivities.

Max. Marks: 80

(20)

(10)

P.T.O.
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3. Answer in one hundred and fifty words each (any two) : (20)

a) What isthe importance of performance appraisal ?
b) What are the recent trends in ‘ Stock Exchange’ ?
¢) What istherole of working capital in abusiness ?
d) Statethe varioustypesof interviews.

4. Answer in three hundred words each (any two) : (30)

2.

a) Explain the nature and scope of manpower planning.

b) State various methods of Employee Remuneration and Incentive Plans.

c) Distinguish between Human Resource M anagement and Personnel Management.
d) Explain the objectivesand methods of training.
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T.Y. B.Com. Examination, 2011
CO-OPERATION AND RURAL DEVELOPMENT -11
(Special Paper - II)

(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) : 20

1) What do you mean by Board of Directors ?
2) State any four functions of NABARD.
3) Define processing co-operatives.
4) What do you mean by Weaker section ?
5) Write four objectives of SBI.
6) State any two problems of Consumers Co-operatives.
7) What do you mean by Dairy Farms ?
8) State any two problems of Poultry Farms.
9) Definethe multi-purpose co-operative societies.

10) DefineAdult-education.

11) State any four functions of B.D.O.

12) State any four problems of Sugar Co-operatives.

13) DefineV.D.O. (Village Development Officer)

P.T.O.
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2. Answer the following questionsin 50 words each (any two) : 10

1) Explaintheroleof District Level C.E.O. (Chief Officer) inrural development
programme.

2) Write anote on NCDC (National Co-operative Development Corporation).
3) State the advantages of Dairy Farms.
4) Write anote on Marketing Co-operatives.
3. Answer the following questions in 150 words each (any two) : 20

1) Statethesocial responsibilitiesof co-operativeinstitutionstowards customers
and weaker sections.

2) Enumerate the functions of SBI (State Bank of India)
3) Explain the advantages of Poultry Farms.

4) Explaintherole of Gramsevak and V.D.O. (Village Development Officer) in
Rural Development Programme.

4. Answer the following questions in 500 words each (any two) : 30

1) Enumerate the significance of woman education in Rural Development
Programme.

2) Explaintheroleof Sugar Co-operativesin Rural Development with reference
to Maharashtra

3) Enumeratethe Merits/Demerits of processing Co-operatives.

4) Explainindetall, theworking of NABARD (National Bank of Agricultureand
Rura Development) in supporting to co-operative institutions.
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T.Y. B.Com. Examination, 2011
BUSINESS STATISTICS -11
(Special Paper - II)

(2004 Pattern)

Time: 3 Hours Max. Marks: 80
N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

iii) Use of calculator and statistical tables is allowed.

1. A) Attempt any four of the following : 2 each

a) Writethetest statistics for large sampletest :
Ho: Py =P, VIsH;:P; =P,
b) Let X — N (10, 2%), state its median and mode.
c) What do you mean by an estimate and an estimator ?
d) Let X — N (3,1%) what will be the mean and variance of Y =3X + 2.
€) Explain necessity of inventory control in brief.
f) State whether thefollowing statement istrue or false.

“Type Il error is considered as more serious than type | error”.

P.T.O.
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B) Attempt any two of the following :

a) A random sample of 100 recorded deathsin acity in India during the past
year showed an average life span of 71.8 years, with a standard deviation

of 8.9 years. Does the average life span of today can be claimed to be 70

yearsat 5 %1l.0.s. 6

b) The following table gives the number of accounting clerks committing
errors and not committing errors between trained and untrained clerks

working in an organization.

Clerks Committing errors | Not committing errors | Total

Trained 70 530 600
Untrained 155 745 900
Total 225 1275 1500

Test effectiveness of training in preventing errorsat 5 %1.0.s. 6
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c) Therearefivejobseach of which must go through the two machinesA and

B inorder AB. Processing timesin hoursare given as:

Job Machine A Machine B

1 5 2
2 1 6
3 9 7
4 3 8
S 10 4

Determine asequencefor fivejobsthat will minimizethetotal elapsedtime.

Also find idletime for both the machines. 6

2. Attempt any two of the following :

A) i) A newspaper boy buys paper for Rs. 3/- each and sells them for Rs. 7/-
each. He cannot return the unsold news papers. Daily demand has the

following distribution.

No. of customers : |23 |24 |25 |26 |27 |28 |29 |30 (31 |32

Probability 0.01|.03|.06 .10].20|.25|.15|.10|.05|.05

If each day’s demand is independent of the previous day’s, how many

papers should he order each day ? 4

i) State properties of normal distribution. 4
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B) i) Define: Null hypothesis. 2

i) It was found that 63 of 100 urban residents favour construction of a power
plant in their neighbourhood. While only 59 of 125 sub urban residents are
infavour. Isthere significant difference between the two proportionsat 1 %

|.0.S. 6

C) Indistribution exactly normal, 7 % of the items are under 35 and 89 % are
under 63. What are the mean and standard deviation of the distribution ?Also
find the probability of items over 63. 8

3. Attempt any two of the following :

a) Writethe procedure of dratified random sampling and systematic sampling. 8

b) A company has problem of assigning six different machinesto five different

jobs.

The costs are estimated as follows :

Machine | Jobs
A B C D E
1 25 50 10 6 1.0
2 20 50 15 7 3.0
3 30 65 20 8 30
4 35 70 20 9 4.5
5 40 70 30 9 6.0
6 60 90 50 10 6.0

Solve the problem to minimize the total cost. 8
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c) i) Write a short-note on De-facto method. 2
i) Thefollowing resultsare obtained in stratified random sampling :

Stratum No. Stratum size Sample size Values
I 200 4 10, 18, 12, 30
II 100 3 112, 115, 122
I 80 2 210, 228
Estimate:
1) Stratameans i) Population mean i) Population total. 6

4. Attempt any two of the following :

a) 1) Itwasfound that the correlation coefficient between two variablescalcul ated
from asample of 25 pairswas 0.37. Test significanceof rat 5 %1.0.s. 4

ii) State findings of 2001 census. 4

b) i) Obtaininitial basic feasible solution to the following T.P. by North-West
corner method. When the demands at stores are 20, 70, 50, 10 respectively. 6

Stores
A B C D ST"tall
Warehouse upply
I 50 150 70 60 50
II 80 70 90 10 60
I 15 87 79 81 40

Also find transportation cost.

i) What do you mean by unbalanced T.P? 2
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c) A company hasthree plants at locationsA, B and C with capacities 800, 500

and 900 respectively. Company need to supply to ware houses at D, E, F, G

and H whose corresponding requirements are 400, 400, 500, 400 and 500

respectively. Determinetheinitial basic feasible solution by matrix minimum

method. Calculate transportation cost and using U-V method state whether

the solution is optimal or not.

D E F G H
Al5 8 6 6 3
Costmatrix: B|4 7 7 6 6 8
8 4 6 6 4
5. Attempt any two of followings:
a) A machineowner findsfrom hispast record that the cost per year of maintaining
amachine whose purchase price is 6000 are as given below :
Year : 1 2 3 4 5 6 7 8
Maintenance cost : | 1000 | 1200 | 1400 | 1800 | 2300 | 2800 | 3400 | 4000
Resale price : 3000 | 1500 | 750 | 375 | 200 | 200 | 200 | 200
At what age is areplacement due ? 6
b) i) Explain simplerandom sampling without replacement. 3

i) A hypothetical population consistsof 4 individuals{2, 8, 5, 1}.
Write down all possible samples of size two from this population without
replacement. Verify the property of unbiasedness of sample mean. 3
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c) UsingVogel’s approximation method obtaininfeasible solution for following
unbalanced T.P. Also find total transportation cost.

Warehouses
Plants Capacity
D E F G H
A 5 8 6 6 3 800
B 4 7 7 6 5 500
C 4 6 6 900
Requirement | 400 400 500 400 800 -

B/l/11/415
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T.Y. B.Com. Examination, 2011
BANKING AND FINANCE -11
(Special Paper - II)
(Financial Markets and Institutions)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) : (20)

1) Definemoney market.
2) What is meant by certificate of deposit market ?
3) What is meant by Bonds ?
4) What is Repos Market ?
5) Define stock exchange.
6) Statethetypesof dealingsin Foreign Exchange Market.
7) Define non-banking finance companies.
8) What is meant by Hire Purchase Finance Company ?
9) State any two objectives of National Housing Bank.

10) Givefull form of ADB.

11) What isLease ?

12) State any two objectives of Unit Trust of India.

13) When was NABARD establisned ?

P.T.O.
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2. Answer the following questionsin 50 words each (any two) : (10)
1) Writeanoteon Bill Market Scheme 1970.
2) Explainthe characteristicsof Indian Money Market.
3) Explainin brief thefunctions of EXIM bank.
4) Explain the functions of factoring companies.

3. Answer the following questions in 150 words each (any two) : (20)
1) State and explain the functions of capital market.
2) Explainthelimitationsof Indian Foreign Exchange Market.
3) Distinguish between non-banking finance companies and banks.
4) Explain the objectives, functions and progress of NABARD.

4. Answer the following questionsin 300 words each (any two) : (30)
1) Discussthe sub-markets of Indian Money Market.

2) State and explain functions and role of Securities and Exchange Board of
India(SEBI).

3) Discusstheobjectives, functionsand progressof Small Industries Development

Bank of India.

4) Explainin detail the objectives, functions and role of International Monetary
Fund.
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T.Y. B.Com. Examination, 2011
MARKETING MANAGEMENT -11
(Special Paper - II)

Modern Marketing Management
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) : 20

1) Define Market Segmentation.
2) Statetwo responsibilitiesof Marketing M anagement.
3) What is Geographical Segmentation ?
4) Statetwo limitations of Market Segmentation.
5) State the two types of buying Motive.
6) What isthe meaning of E-Commerce ?
7) What isthe meaning of Social Responsibility ?
8) What isRegional Imbalance ?
9) What is Consumer Motivation ?

10) What isEthicsin Marketing ?

11) What isthe meaning of Customer Care ?

12) What isGloba Marketing ?

13) Definethe term Consumer Protection.

P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10
1) Statethedifference between Marketing Management and Sales M anagement.
2) Explainthesocia criticismsof Marketing.
3) Write short note on challenges of marketing managersin India.
4) Explaintheimportance of International Marketing.
3. Answer the following questions in 150 words each (any two) : 20
1) Explaintheimportance of studying buyers behaviour.
2) Explaintheresponsibilitiesand functions of Marketing Management.
3) What isthedifference between Domestic marketing and International marketing ?
4) Explainthe concept of Consumer movement in Indiaand state itsimportance.
4. Answer the following questions in 300 words each (any two) : 30
1) Explainthebasisfor segmentation of Consumer Market and Industrial Market.
2) Explain the buyer’s buying process.

3) Explainindetail the organisationsand actsexisting for protection of Consumer
Rightsinindia

4) Explainthefollowingterms:
a) Customer Service
b) Customer Focus

c) Customer Delight.
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T.Y. B.Com. Examination, 2011
AGRICULTURAL AND INDUSTRIAL ECONOMICS -11
(Special Paper — II) (2004 Pattern)

(Indian Agriculture and Industry)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) : 20
1) What is cropping pattern ?
2) What isregional imbalanceinirrigation ?
3) What is subdivision of land holdings ?
4) State two examples of land reforms.
5) What is Rayatwari system ?
6) Statetypesof agricultural labour.
7) What ismultinational corporation ?
8) Definesmall scaleindustry.
9) State two malpractices of MNCs.
10) State two causes of unemployment.
11) What do you mean by industrial relations ?
12) What is social security ?

13) State two benefits of sugar industry in rural development.

P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10

1) Explainthe causes of fragmentation of land holdingsin India.
2) State the nature of imbalance in cropping pattern.
3) Statetherelation between industrial development and economic devel opment.
4) Explain the problems of co-operativeindustrial sector in India.
3. Answer the following questions in 150 words each (any two) : 20
1) Explainthe advantagesof ceiling onland holdings.
2) Explaintheincidence of rural poverty inIndia.
3) Explainthe progressof cotten textileindustry in India.
4) Explainthe progress of labour participation in management in India
4. Answer the following questions in 300 words each (any two) : 30

1) What are the causes of low productivity of Indian agriculture ? Explain the
measures adopted by the government to improve it.

2) Giveabrief account of land reformsin India.
3) Explain therole and problems of public sector enterprisesin India.

4) Explain the progress and problems of iron and steel industry in India
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T.Y. B.Com. Examination, 2011
DEFENCE BUDGETING FINANCE AND MANAGEMENT -11
(Special Paper — II) : (Economic Aspects of Defence)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Answer in 20 words (any ten) : 20
1) What do you mean by “Inflation” ?
2) Statethe meaning of Defence Expenditure.
3) How you would liketo define “war” ?
4) Writethe long form of “G.S.L.”
5) Define“Defence”.
6) State any two merits of peacetime economy.
7) Write any two effects of war.
8) Define*EconomicWarfare”.
9) Write the basic aim of mobilisation of resources.
10) What do you understand by “GNP’ ?
11) Statethe meaning of self reliance.
12) What do you mean by DPSU ?

13) Writethewar yearsof Indiasince 1947.

P.T.O.
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2. Answer in 50 words (any two) : 10

1) Explainin brief the necessity of Price control during war.
2) Writein short demerits wartime economy.
3) Explainin brief theimportance of Rationing.
4) Writein brief political |eadership asaelement of war potential.
3. Answer in 150 words (any two) : 20
1) Highlight on the problems of foreign collaboration.
2) Explain the determinant factors of Defence Budget of India
3) Write anote on “War Time Economy”.
4) Explain the defence expenditure as a productive expenditure.
4. Answer in 300 words (any two) : 30
1) Analysethe defence expenditure of Indiafrom 1947 to 1975.
2) Write an essay on “War Finance’.
3) Establishtherelationship between Defence and Devel opment.

4) Explainthe problems of calculating real cost of war.
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T.Y. B.Com. Examination, 2011
COMPUTER APPLICATION - II (Special Paper - II)

(Web Design and Application)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Neat diagrams must be drawn wherever necessary.
1. A) Attempt any two of the following : 16
1) Explain the document structure tag with syntax and examples.
i) Explain factors of web design with its pyramid.
i) Write anote onAudience and user profiling.

B) Attempt any one of the following : 4
I) Write anote on frame tags.
i) Explainthe difference between static and dynamic sites.

2. Attempt any five of the following : 10
1) Writethefull form of DHTML and XML.
i) What is an Entrance page ?
i) What isthe use of search engine ?
Iv) What isuse of Book-Marking in Navigation ?
v) What is use of Event Handlersin Web design ?
vi) What is meant by hyperlink ?

3. A) Attempt any two of the following : 16
I) Write a note on Java Script.
i) Explainthesiteplanindetail.
i) Explaintheform tag with help of suitable example.

P.T.O.



[3969] - 46 AT R

B) Attempt any one of the following : 4
1) Write a short note on Testing of Web site.
i) Explainthe unordered list tags with syntax and examples.

4. Attempt any two of thefollowing : 30
I) Explainthedifferent organizational modelsused in designing web sites.
i) Explainthedifferent sitetypes.

i) Write HTML program to create the following table

Student Marksheet
Roll No. Name Total Per Grade

Iv) Explainthedifferent web technologies.

B/1/11/450
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T.Y. B.Com. Examination, 2011
INSURANCE, TRANSPORT AND TOURISM -11
(Special Paper — IT) (2004 Pattern)
Time: 3 Hours Max. Marks. 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Answer any ten questions in about 20 words each : 20

1) What isthe life Insurance ?
2) What isinsurance claim ?
3) What is life insurance documents ?
4) State the scope of General Insurance.
5) State the Nature of Fire Insurance.
6) What is Road-Rail Co-ordination ?
7) What is transportation ?
8) State any two function of Tourism Development Corporations.
9) What is the paid up policy ?

10) What are the advantages of group insurance ?

11) What is Bonus on Policy ?

12) Why knowledge of currency and exchange is required in Tourism Industry ?

13) State the kinds of losses and damages.
2. Answer any two in about 50 words each : 10
1) Explain the life insurance products.
2) State the nature of tourism in India.
3) Explain the claims and settlements.

4) State the various types of fire policy.

P.T.O.
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3. Answer any two question in about 150 words each : 20
1) Explain the formation process of life insurance contract.
2) Explain the importance of life insurance.
3) State the importance of tourism in Indian economy.

4) Explain the characteristics of life insurance contract.

4. Answer any two questions in about 500 words each : 30
1) Explain the terms and conditions of life insurance contract.
2) Explain the Investment policy of general insurance.
3) Evaluate the performance of LIC.

4) Explainthetravellingfacilitiesavailablein the country to devel op thetourism.
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T.Y. B.Com. Examination, 2011
CO-OPERATION AND RURAL DEVELOPMENT -111
(Special Paper - III) (2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) :

1) What is meant by Cottage Industry ?
2) Writefour functions of Khadi and Village Industrial Corporation.
3) What ismeant by Globalisation ?
4) What issmall-scaleindustries?
5) Statetwo causes of Decentralisation of Rural Industrialisation.
6) What do you mean by Public Sector Undertaking ?
7) Explain the meaning of theterm*Rural Employment’.
8) What isRural Industrialisation ?
9) What is Employment Gurantee Scheme ?

10) State two functions of Co-operative Management.

11) What is mean by Private Sector ?

12) Definetheterm ‘Co-operation’.

13) What is Government subsidies and grants ? 20

P.T.O.



2. Answer the following questions in 50 words each (any two) :

1) Explaintheneed of Maharashtralndustrial Development Corporation.
2) Writein brief present position of District-Central Co-operative Banks.

3) Application of principlesof Management in Co-operative sector; Explain.

4) Explaintheneed of Rural-Employment.

. Answer the following questions in 150 words each (any two) :

1) Enumerate the position of Co-operationin fiveyear plansin India.
2) Explain the expansion of small-scale and cottage industries.

3) Explain the organisational problemsof Co-operatives.

4) Explaintheimpact of Globalization on Rural Development.

. Answer the following questions in 500 words each (any two) :

1) Explaintherole of Co-operative Department.

2) Enumerate the problems of Employment Guarantee Schemeinrural area.
3) State the functions of Urban Co-operative Banks.

4) Explainindetail, the present position of Rural Employment inIndia
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T.Y. B.Com. Examination, 2011
BUSINESS STATISTICS - 111
(Special Paper — I1I)
(2004 Pattern)

Time: 3 Hours Max. Marks: 80
N.B. : i) Attempt all questions.
ii) Figures to the right indicate full marks.

iii) Use of calculator and statistical tables is allowed.
1. A) Attempt any four of the following : (2 each)
a) Explaintheterm‘Pessimistictime’.
b) State the distributionswhich are used in queuing theory.

c) Determine whether there exists a saddle point in the following two person

Z€ero sum game:

Player B
27 17:|

Player A
17 23

d) State whether each of the statements given below istrue or false:

1) C — chart is used to control proportion of defects.

ii) Critical path is shortest path.
€) What isthe purpose of analysis of variance ?

f) Explainthe term consumer’srisk.

P.T.O.



[3969] - 51 2- RO

B) Attempt any two of the following :

a) Solvethe gamewiththefollowing pay-off matrix by using the principle of

dominance: 6
Player B
b, b, bs

Player A

b) A baker produces a certain type of special cake at atotal average cost of
Rs. 3and sellsit at aprice of Rs. 5. This cakeis produced on the weekend
and sold during the following week. He incurs aloss of Rs. 3 for every
cakewhichisnot sold assuming no resale value. Previous experience shows
that the demand various from 78 to 80 cakes per week. The problem is
how much quantity he must stock ? Determine the best decision from the

following:

1) Maximin criteria

i) Maximax criteria

i) Laplacecriteria. 6

c) Describethefollowingtermsin statistical quality control :
1) Quality
ii) Assignable cause

i) Chance cause. 6



2. Attempt any two of the following :

[3969] - 51

a) Tensampleseach of size5 aredrawn at regular intervalsfrom amanufacturing

process. The sample means (Y) and their range (R) are given below :

Sample No. | 1 | 2 | 3|14 S5 |6 |7 8|9 |10
Mean (Y) 49 | 45|48 |53 39|47 |46 39 |51]|45
Range (R) 715|719  5|8|8 6|76

Construct control charts for mean and range. Also comment on whether the

process seems to be under control (n =5, A, =0.577, D;=0, D, = 2.115).

b) 1) Explainthefollowingterms:

1) Opportunity loss

ii) Decision under risk

[1) Explain the concept of acceptance sampling plan and 100 % inspection in

production process.

c) From the following data, interpolate the value of Y, when X = 45 by using

Newton’sforward interpolation formula:

X: 20

Y: 10 14

22

28

30 40 50 60

32
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3. Attempt any two of the following :
a) 1) Write a short note on ‘Decision Tree'. 4

i) Explain the concept and importance of forecasting, interpolation and

extrapolation. 4

b) Thefollowing datagivesthe life-times of four brands of electric bulbs:

Brand
A B C D
20 25 24 23
19 23 20 20
21 21 22 20

Prepare an analysis of variance table for the above one-way design and test
the significance of difference between thelife-times of four brands.
(Use5%1.0.5) 8

c) i) By meansof Binomial expansion method interpolation the missing figure

inthe databelow :
Year : 1965 1966 1967 1968 1969 1970
Index Number : 320 300 ? 280 278 250 4

i) For single sampling plan with N = 1200, n = 64 and ¢ = 1. Compute the
AOQ given that p = 0.05. 4
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4. Attempt any two of the following :

a) A bank has one computer operator for typing letters. Her service rate is 8
letters per hour. The letters arrive at her table is 5 per hour during 8 hours
working day. If the cost of idle computer is estimated as Rs. 150 per hour,
find:

I) Probability that computer isunutilized.
i) Averagewaiting time of |etter in system.
i) Average number of lettersin the queue.
Iv) Cost per day due to idle computer. 8

b) The following table gives the activities in a project and other relevant
information :

Activities | Duration
1-2 3
1-4
1-5
2-3
4-7
4-6
5-6
3-8
7-8
6-9
8-9

w o o N b N B~ BMADNDDdN

I) Find critical path.

i) Findfree, total and independent float for each activity. 8
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c) A project hasthefollowing activities and other characteristics:

-6-

Activity Time Estimates (Week)
t t t
1-2 4 7 16
1-3 1 5 15
2-4 6 12 30
2-5 2 5 8
4-6 5 1 17
5-6 3 6 15
3-7 3 9 27
6-8 1 4 7
7-8 4 19 28

1) Draw the PERT network diagram and cal culate the length, variance of the
critical path.

i) What isthe probability that the project is completed between 35 and 40

weeks ?

5. Attempt any two of the following :

a) Explain the concept of 1S and 1SO.

b) Given two sampling plans:

l: n=40, ¢c=0

I1: n=80, c=1

Which plan involvesthe minimum averagetotal inspection (ATI) for N = 2000,

p=0.057?
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c) Fill inthe blanks of the following ANOVA table marked ’
Source of | Degrees of | Sum of | Mean sum | Variance
variation freedom squares | of squares Ratio
Between ] ] 1155 ]
colums
Between 3 ] 9.52 )
Rows
Error 12 68.20
Total - -
Test the homogenity of columns and rows. Use5 % |.0.s. 6

B/l/11/415
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T.Y. B.Com. Examination, 2011
BUSINESS ENTREPRENEURSHIP - I11
(Special Paper — I1I)
Organisational Behaviour and Entrepreneurship Development
(2004 Pattern)

Time: 3 Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : 20

1) What is ‘organisation’ ?
2) What is ‘power’ ?
3) What is ‘Authority’ ?
4) What is ‘change’ ?
5) Explain the term ‘job enrichment’.
6) Explain the term ‘Organisational Behaviour’.
7) Explain the term ‘conflict’.
8) Explain the term ‘stress'.
9) State the meaning of ‘formal group’.

10) State the meaning of ‘functiona group’.

11) State the meaning of M.B.O.

12) Explain the term ‘personality’.

13) Explain the term ‘leadership’.

2. Answer in 50 words each (any two) : 10
1) Distinguish between formal and informal group.
2) Distinguish between leader and manager.
3) Distinguish between team and group.

4) Explain the term ‘Emotional Intelligence’.
P.T.O.
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3. Answer in 150 words each (any two) : 20
1) State the Benefits of Management by objectives.
i) Explain the causes of resistance to organisational change.
lii) Explain the causes of conflict in an organisation.
Iv) State the importance of motivation.
4. Answer in detail with 300 words each (any two) : 30
1) Explain the reasons for organisational change.

i) What is informal group ? Explain the causes and importance of informal
group.

Iii) Explain the term ‘creating high performance team’. Explain the benefits of
team work.

iv) Explain different theories of leadership.
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T.Y. B.Com. Examination, 2011
MARKETING MANAGEMENT -111
(Advertising)

(Special Paper - III) (2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : 20
1) Define*Advertisng’.
2) What is Promotion ?
3) State the two advantages of Advertising.
4) What isAdvertisingMedia?
5) What isIndirectAdvertising ?
6) What isModernAdvertising ?
7) State the two advantages of Internet.
8) What are Handbills?

9) What is meant by Teleshopping ?
10) WhatisImageBuilding ?
11) What isIndustrial Advertising ?
12) What is Copy ?
13) WhatisInstitutional Advertising ?

P.T.O.
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2. Answer in 50 words each (any two) : 10
1) Explainthe main objective of Advertisement.
2) Explainthe social aspects of Advertising.
3) Write ashort note on Visualisation.
4) Explainthelimitationsof Advertising business.

3. Answer in 150 words each (any two) : 20
1) Explainthefunctionsof Advertising.
2) Explainthevarioustypesof appealsinAdvertising.
3) Explainthe selection of Advertising asa career.
4) Explainthedifference between creative and competitive advertising.

4. Answer in 300 words each (any two) : 30
1) Explainthefunction of Advertising Layout.
2) Explainindetail Mediasof Industrial Advertising and Rural Advertising.
3) Explain the aspect of Message Structure.
4) Explainindetail perceptual mapping and audience perception.
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T.Y. B.Com. Examination, 2011
AGRICULTURAL AND INDUSTRIAL ECONOMICS -111
(Special Paper — III) (2004 Pattern)

(Indian Agriculture and Industry)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) : (20)
1) What do you mean by non-Institutional sources of agricultural finance ?
2) Statetwo meritsof Institutional sources of agricultural finance.

3) Statetwo problemsof agricultural marketing in India.
4) What isco-operative agricultural marketing ?
5) Statetwo adverse effect of fluctuationsin agricultural produce prices.
6) What isMFAL ?
7) State two objectives of SIDBI.
8) Give broad features of Industrial Policy 1977.
9) What do you mean by concentration of economic powers ?
10) Givetwo causes of growth of monopoly in industrial sector in India
11) Define public sector enterprises.
12) State the meaning accountability of public enterprises.

13) State two adverse effects of antimonopoly Acts.

P.T.O.
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2. Answer the following questionsin 50 words each (any two) : (10)

1) Explainthe malpracticesof non-institutional sourcesof agricultural financein
India

2) State the problems of export of agricultural produce.
3) Explaintheproblemsof industrial financein India.
4) Explain the drawbacks of IFCI.
3. Answer the following questions in 150 words each (any two) : (20)
1) Explaintheeffectsof pricefluctuationin agriculture.
2) Explaintheworking SFDA.
3) Explainthedisadvatagesof Industrial Licensing Policy.
4) State and explain the argument for privatisation of public enterprises.
4. Answer the following questionsin 300 words each (any two) : 30)
1) Explaintheroleof NABARD inagricultural finance.
2) Review agricultural policy since 1991.

3) Explain the policy of Government regarding public sector enterprises
since 1991.

4) Give an outline of measures adopted by Government to prevent monopoly
and concentration of economic power.
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T.Y. B.Com. Examination, 2011
COMPUTER APPLICATION -111
(Special Paper - III)

(System Analysis, Software Engineering and MIS)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Neat Diagrams must be drawn wherever necessary.

1. A) Attempt any two of the following : 16
I) What is system ? Explain elements of system with an example.
i) What is meant by system analyst ? Explain the role of system analyst.
i) Explainthedifferent software qualities.
B) Attempt any one of thefollowing : 4
1) Explain symbolsusedin flow-chart.
i) Write a short note on Fourth Generation Techniques (4GT).
2. Attempt any five of the following : 10
1) DefineMIS.,
i) What do you mean by stub module ?
i) What is system security ?
Iv) Draw the symbols used in Data Flow Diagram (DFD).
v) What isan entity ?

vi) What do you mean by Economical feasibility ?

P.T.O.
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3. A) Attempt any 2 of thefollowing : 16
1) Explainindetail therole and characteristicsof MIS.
ii) Explain Software Requirements Specification (SRS) in detail.
i) Write anote on water fall model with the help of diagram.
B) Attempt any one of the following : 4
1) Write a note on system prototype method.
i) Write anote on system maintenance.
4. Attempt any two of thefollowing : 30
I) Explainindetail the Human Development Information Systems.
i) What are the fact finding techniques ? Explain each.
i) Explainthe Marketing Information systemin detail.

Iv) What is a decision tree ? What are the components of a decision table ?
Explain it with asuitable case study.

B/l/11/455
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T.Y. B.Com. Examination, 2011
INSURANCE, TRANSPORT AND TOURISM -111
(2004 Pattern) (Special Paper — III)

Time: 3 Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.
1. Answer any ten questions in about 20 words each : 20
1) State any two organizational problem of LIC.
2) Suggest two points to make the management of LIC more efficient.
3) What do you mean by LIC Investment Policy ?
4) What is corporate securities ?
5) State two feature of National Insurance Company Ltd.
6) What is Marine Insurance ?
7) What is water transport ?
8) State any two effects of privatization of Air Transport.
9) What is World Tourism Organization ?
10) What is passport ?
11) What is project report of a Tour ?
12) What is Tour Operators ?
13) What isVisa?

2. Answer any two in about 50 words each : 10
1) State the function of LIC.
2) State the Investment Policy of LIC.
3) State the role of Nationa Insurance Company Ltd.

4) Explain the term Tourism Planning.

P.T.O.
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3. Answer any two in about 150 words each : 20
1) Explain the progress of LIC during last decade.
2) State the meaning of water transport, explain its scope.
3) Explain the problems of Air India
4) What istherole of IATA ?

4. Answer any two questions in about 500 words each : 30

1) What isprivatization of the Life Insurance Business ? Explain the advantages
and disadvantages of privatizations.

2) Explain the role of Water Transport in Economic Development of India.
3) Explain the need of International Tour and Travel Organizations.

4) What do you mean by marketing of Tourism ? Explain the future prospects
for tourism in India.
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T.Y. B.Com. Examination, 2011
COMPUTER APPLICATION -V Vocational
(Paper — V) (2004 Pattern)

Time: 3Hours Max. Marks: 60
SECTION -1
1. Answer the following questions (any three) : 15
a) What is networking ? State advantages of networking ? Explain LAN, MAN,
WAN.

b) Explainwaterfall model to develop awebsite.
c) Stateweb design normswhich should befollowed while developing awebsite.
d) What is search engine ? How it works ?

2. Write short notes on (any five) : 15
a) |P address
b) Intranet
c) Chatting
d) Socia networking sites
€) Public and Private Website
f) Network Interface Card.
SECTION -2
3. Answer the following questions (any three) : 15
a) Distinguish betweenTraditional Commerce and E-Commerce.
b) What isTrade Cycle ? Explain General Trade Cycle.
c) ExplainInternet Commerce with the help of trade cycle.
d) What is EDI Technology ?

4. Write short notes on (any five) : 15
a) E-Payment
b) E-market
c) Encryption
d) Frewdl
e) Digitdl certificate
f) Internet Commerce.

B/1/11/180
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T.Y. B.Com. Examination, 2011
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT -V
(Vocational Paper - V)
(Sales Promotion, Public Relations and Management of Sales Force)
(2004 Pattern)

Time: 3Hours Max. Marks: 60

N.B.: i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. What do you mean by recruitment ? Describe theinternal and external sources
of recruitment. 15

OR
State and explain various methods of training the sales persons. 15

2. “Effective performance appraisal boosts morale of the employees’. Comment
and throw light on the importance of performance appraisal. 15
OR

Give meaning of theterm * Sales promotion’. Describe in detail consumer-
oriented sales promotion. 15

3. What do you mean by sales quota ? Narrate the objectives behind setting

salesquota. Enumerate the factorsto be considered while setting sales quota. 15
OR

What do you mean by public relations ? What are its objectives ? 15

4. Write short noteson (Any three) : 15

a) Significanceof motivation

b) Importance of sales force

c) Ethical aspects of sales promotion
d) Salesforcesize

e) Compensation.

B/1/11/100
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T.Y. B.Com. Examination, 2011
PRINCIPLES AND PRACTICE OF INSURANCE -V
(Paper - V) (Vocational) (2004 Pattern)
Property and Liability Insurance

Time: 3Hours Max. Marks: 60

N.B.: i) All questions are compulsory.
ii) All questions carry equal marks.

1. Definetheterm Liability. Statethetypesof legal liability. What arethe specia
featuresof Liability insurance? 15

OR

What do you understand by the term negligence ? When the action for negligence
can be sustained ?

2. Describe different risks covered under householder’s package insurance policy. 15
OR

Explain the procedurefor obtaining the Liability insurance.

3. State when the employer isliable and is not liable for compensation to his

employee. 15
OR
What are the common features and common exclusionsof Professional Indemnity
Policies?
4. Write short notes on (any three) : 15
1) Claim Note.

2) Losses covered under Aviation Insurance Policy.
3) Key clauseinburglary insurance.

4) Pollution Risks.

5) Underwriting procedure of cash insurance.

6) Schoolsand educational institutions.

B/1/11/100
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T.Y. B.Com. Examination, 2011
TAX PROCEDURE AND PRACTICES-V
Customs Act (2004 Pattern)
(Vocational Paper — V)

Time: 3Hours Max. Marks: 60

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Answer in 20 words each (any seven) : 14
1) What is meant by ‘ Foreign going vessel or Air-Craft’ ?
2) What is meant by ‘Board’ ? How it is constituted ?
3) When did the WTO established ? What is the Object ?
4) What is meant by ‘CVvD’ ?
5) What are the kinds of rates of duty-drawback ?
6) What is mean by P.D. Bond ?
7) What are the kinds demurrage ?
8) What ismeant by ‘India’ ?
9) What isthe object of ‘Red Channel’ and ‘ Green Channel’ ?
10) What is meant by ‘ Un-accompanied baggage ?
2. Answer in 50 words each (any two) : 8
1) Explaintheterm ‘Goods ? What is meant by dutiable goods ?
2) Explain the procedure for noting under Customs Act.
3) Whoiscaled ‘Personincharge’ ? What are his duties ?

4) What is mean by ‘Export’ ? Who is called ‘ Exporter’ ?
P.T.O.
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3. Answer in 150 words each (any three) : 18

1) Distinguish between clearance of ‘imported goods for Home consumption’
and Ex-bond clearance.

2) Explain the procedure to be followed by person incharge for clearance of
goods for export.

3) What ismeant by ‘ Customs Station’ ? Discussimportance of Customs Station.

4) What is‘Bonafide Baggage' ? Discuss exemptions from customs duty in
relation with bonafide baggage.

5) Explainincidence, and constitutional back-ground of customs duty.
4. Answer in 500 words each (any one) : 20

1) Discussadministrative set-up of authoritiestheir powers and duties under
‘Customs Act’.

2) Discussin details, incidences, importance and objectives of various kinds of
duties under Customs Act.

B/l/11/180
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T.Y. B.Com. Examination, 2011
BUSINESS LAWS AND PRACTICES - III (Special Paper — III)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Use of calculator is allowed.

1. A) What are the basic conditions for levy of duty under Section 3 of the Central
ExciseAct, 1944 ? 7

B) Writeanoteon : ‘Invoice’ under Rule 11 of the Central Excise Rule, 2002. 7
OR

1. Elucidate the concept of CENVAT Scheme. Explain the fundamental features of
the CENVAT Scheme. 14

2. Determinethe ‘ AssessableValue' in each of the following instances under the
Central ExciseLaw. 14

I) The selling price of a product, inclusive of excise duty and state VAT is
Rs.75,000. State VAT rate is 4% and Tariff rate of excise duty is 12%.
However, as per an exemption notification, rate of Exciseduty leviableto the
product is 8% plus Education cesses as applicable.

I1) MonicaLtd. sold 2000 unitsto Babita L td. at Rs.100 per unit. Inturns, Babita
Ltd. sold the same to Konica Ltd. Rs. 120 per unit. Monica Ltd. and Babita
Ltd. areinter-connected undertakings as per Section 4(3) (d) of Central Excise
Act, 1944, whereas Babita Ltd. and Konica Ltd. are unrelated undertakings.

[11) Dinesh Ltd. manufactured some furniture within the factory for its own use.
For this purpose raw material was purchased of Rs. 55,000. The cost of
operations carried out by the company is Rs. 12,400 as certified by a Cost

Accountant under CAS-4. P.T.O.
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V) ArunaLtd. sales goods from factory gate and cum-duty priceisRs. 6,52,500
on F.O.R. basis. Freight and Octori incurred Rs. 10,000 and Rs. 2,500
respectively. State VAT @ 4% and Excise duty @ 14% plus educational
cesses as applicable.

OR

2. A) Akansha Forge Ltd., asked for a quotation from Alpha Pumps Ltd. for 100
water pumps. Alpha Pumps Ltd furnished the following quotations.

Particulars Amt (Rs.)

Components.
Casing 50,000
Impeller 25,000
Impeller shaft 20,000
Sedls 10,000
Bearings 5,000
Total 1,10,000
Labours & Overheads 35,000
Total 1,45,000
Profit 5,000
Price per pump 1,50,000

Advance to be paid per pump 50,000

AkanshaForge Ltd. accepted the quotation subject to thefollowing aterations
which are agreed by Alpha Pumps Ltd.

1) Impeller shaft would be supplied free of cost by Akansha Forge Ltd. to
Alpha Pumps Ltd. since Alpha Pumps Ltd. is able to purchase the same
for 15,000 per item.

2) Profit charged by Alpha Pumps Ltd. is to be reduced to Rs. 4,000 since
Akansha Forge L td. would make an advance of Rs. 50,000. However, no
interest is payable on the advance.
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3) Ddlivery withinthe one month from the date of receipt of order and advance.

As per the terms as agreed upon, Alpha Pumps Ltd. manufactured and
delivered the pumps to the buyer. Excise duty leviable on the product is
14% plus educational cesses as applicable.

Determine the assessabl e value under Section 4 of the Central ExciseAct,
1944 and Exciseduty liability. 10

B) CircusMedico. Ltd. isengaged in the manufacture of “Cyco” tabletsthat has
MRP of Rs. 45 per strip. The MRP includes 14% Excise duty plus Education
cesses as applicable. The company cleared 5,000 strips and distributed as
‘physicians samples’ free of cost. Each package was marked “free samples’
and not MRP. The company sales the same tabletsin the wholesale market at
Rs. 50 per strip. (Excluding Excise duty and CST). As per the Section 4A,
40% abatement is applicable on the drugs and the rate of duty 14% plus
educational cesses.

Compute assessable value and amount of duty payable. 4

3. A) Definethefollowing termswith reference to the CustomsAct, 1962 : 4
I) Person-in-charge
I1) Prohibited goods.

B) Write short noteson : 8
[) Bill of Entry
I1) “Similar Goods’ for the purpose of customs valuation.
OR

3. Explain the provisions of Section 111 of the Customs Act, 1962 in respect of
confiscation of improperly imported goods. 12

4. A) State the provisions of Section 69(1) of the Finance Act, 1994 and rules
made there under, regarding ‘registration’ for service tax. 8

OR

A) Explain the procedure for ‘ payment of servicetax’. 8
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4. B) Definetheterm ‘Dealer’ under CST Act. 4
OR
B) Explaintheterms’Inter-state Sale’ and ‘ Intra-state Sal€'. 4

5. State the meaning of ‘Input Tax’ and ‘Ouput Tax’. What is ‘ Input Tax Credit’ ?

What purchases are not eligible for input tax credit ? 12
OR

5. A) Write anote on ‘ Taxpayers | dentification Number’ (TIN). 6

B) What is ‘VAT' ? What isits need ? 6

6. A) Mr. Amar reported inter-state sales turnover of Rs. 25,00,000. Thisincludes
thefollowings:

I) Excise duty Rs. 2,00,000 and

i) Deposit for returnable containers and packages Rs. 2,96,800.

Sales tax was not included separately in the salesinvoice.

Compute tax liability under the CST Act, assuming the rate of tax @ 2%. 4

OR

6. A) Sun Power ServicesLtd, Nagpur, manufacturesand sells* Solar Water Heaters
and System”. In December 2009, it sold the Solar Water Heaters and Systems
worth of Rs. 15,00,000 to Green Park Hotel, Bhopa (M.P). The buyer was
not aregistered dealer.

The sale price of Rs. 15,00,000 includes installaion charges Rs. 1,00,000,
excise duty Rs. 76,000 and packing expenses Rs. 25,000.

The local salestax rate on the goods in the State of Maharashtra was 4%.
Find out taxable turnover and CST payable. 4
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6. B) Swastik Co. Ltd., Nashik, purchased material ‘X’ and material ‘Y’ of

Rs. 2,00,000 and Rs. 1,00,000 respectively from the State of Uttar Pradesh.
The purchase prices were inclusive of CST @ 2%. Swastik Co. Ltd. used
material ‘X’ and Material ‘'Y’ asraw materials, added 100% cost of materials
towards manufacturing expenses and profit and sold the resultant product to
wholesaler, Trimurti Traders of Pune. Wholesaler, Trimurti Traders of Pune
sold the same to the retailer, Narendra Brothers of Baramati at 25% above
cost. Retailer, Narendra Brothers of Baramati, sold the same to a consumer at
20% above cost. VAT rate of the product was 4%.

Find out the amount of * Set-off’ available to and amount of VAT payable by
each assessee under the Maharashtra VAT Act, 2002, assuming that all the

assessees are registered dealers. 12
OR
6. B) Details of the total purchases and total sales of one of the ‘Reseller Dealer’
aregiven below :
Particulars Amt. (Rs.) Particulars Amt. (Rs.)
|) Purchasesfrom 11,25,000 Sdes 15,00,000

Registered Dealer 10,00,000 VAT @ 12.5%1,87,500 16,87,500
VAT @ 12.5% 1,25,000

II) Purchases from Registered
Dedler (Inclusiveof VAT) 2,00,000
[11) Miscellaneous purchases
from Registered Dealer 5,000 5,625
VAT @ 12.5% 625

IV) Purchasesfrom
Unregistered Dealer 6,000
V) Inter-state purchases 50,000 51,000
CST @ 2% 1,000

Total Purchases 13,87,625 Total Sales 16,87,500

Compute the amount of Set-off available to and VAT payable of the dedler. 12



[3969] - 55 & AR A

TS TUTR
G 1) T J7 ST 377
it) 3TAlEBSIT 375 qUf o7 T
iii) FCFIAT TTR FXAT AZCT.

iv) G113} Je3 ST 7T 78T,
9. 37) haTd ICUTE Yok HIFET &Ry AT hchW 3 3T Yooh ST HTIT=AT Hervd 31
0T ? 7
) he ITE J[osh TRIIH 002 =1 R 98 wrefia “forstsh” amar fouor ferar. 7
TeRa
9. ‘Uege AISHT & HehoudT foeTe ol TFete Ao YA o f3Tees! T ., 14

R. WTeIe Toh ITEXUITAT STed I she i ScATe S[edh hIGTad S[odh e qou FHivea
. 14

%) Teh! Sl 3CUTEH S[ooh o TSd Hoddtdid ot TS fashl ford €. Wy, 000 3TR. TS
qeIafdid e & ¥% AT Icured S[eshran 3w X }R% TR, qTf, Haetdi=an
IREATIER 3caTeH Yeohtal R ¢ % ITeeh TR1&707 ITe AR 3.

R) Mt fet. 3 siferar fo1. &1 2, 0 00 T F. L 00 Tt T Tersht Shedl. e sfferan fat. 3
e HTeT Tt e foram =, g0 Udt T Y. mifent for. 9 afean fa. S
JcTEH [oh ShIIET, § R ¥y <A1 et ¥ (3) () Taid Herefia Sedre T 3TTed, at siferdn
1. 3 wifier for. sreaefia Seure weer o1,

3) few for. 3 wETET= AT TSt FTE BiHwE T IcUTed shet 318 T eI
%, 4y, 000 =t et AT WAl ket I TR Trecied 3caTe fRIen @ % . 43, %00 311
&, S & (CAS) ¥ Faria TRe SiEieheh JHII Shell 3.




AR A 7- [3969] - 55

¥) TR Tt & HRE T BIeshlae Uh. 3. TR, Tearak Hieiret forghl hefl 9 @i Yok
TS forshl fohmd &. &, 1R, 40 0 3TE ATETS! TS & STohTd Wl STIPHE. £0,000FF . R,400
T, TSI oo 3R ¥ % J ITATE S[odh 2% % TR 218701 SRt HIcTTaR STTeRRUT I
e

feRa

o~

R. 37) TR ISt 1. = 371 I fed. g ¢ 0o UTUT=AT YR SO HITfISt TR, 3T
vy T, 3 @iefier JHTOT Tseh |1t hed 3R

LEINC TR (%)
T :

T Yo,000
S 2,000
3 M9 R0,000
ey, 90,000
EERUST 4,000
TR 9,90,000
o9 3 i 34,000
TR @ %,%¥4,000
TH 4,000
formra wreft o9 %,40,000

Blﬁrqqéaﬁaﬁﬁ/éa Ko,000

ST BIS o1, = WA G ST Ted S [esRel 319 d 3Te! 97 il 4
T TR,




[3969] - 55 & AR A

%) ST st 1. 7 3T T7 ol A1 S MU= Hithd qRaaT =T TR, AT 30
3T gy 7. Tt Ueft Uk @R %, Q4,000 AT & ITohed.

R) T R T, 3 ATHROR hetedn THAT THRH ¥, 0 0 0 Tid ohH! ST STTR. ATHTS!
TR Bt A, T 4o, 000 =t il Ty ST 1R, W Haefia i Torian
VIR TS o Tl

3) TG T STMH UTC ! IR Toh A=A 31T HIeiT ] died Soar= 311,

TR Y[eehTaT & $% % STE 18707 Ut AT TR,

SR ICATE [ooh hIIGT, § ]y =T hetH ¥ ITATd Y[och TR Hod I J[edh o

Tfea . 10

R. ) Uthd AR fi1. ARl TacieE=aT ScTed hd oh, ST Sacied =l Wl Tl AT
ToRteRTes TohwTd ®. ¥4 3TTR. HHTCT Tohtehics ToRA HEAl % % IcdTaH Y[odh d AT STHercl
TRTeqoT ST THTfae STMRA. A U, 0 0 0 T ISV h& Jelfehd T TV HIkd
1 shel. Tk AT HI%d T FeU foaiohd shel 378, T AT [ohiehics fohrd
FaegifeRd heft ATEY. U T TR Soleied H3heh SIS €. Yo Tt Teg JHTor
forerea 3TTed, sht ST 3eTaH S[ooh o Fad Tolshl SR Tl HHTGRT e, et %37 Jor
ST 0 % ST, AU IJosh X 2% % 3TTereh farequr 3uam om] o1,
Yook HATHRUN Yool d < YeohTall 1ok el 4

3. o) AW Yook SIaT, $ &R =T HeviH ETelia S ST 1.
%) 9 e

R) THTE SholedT HTA. 4



RO A - [3969] - 55

¥) four ferar.,
%) e urerd

Q) STehTd oA TehT=AT IEITH 3TTET T 8
ICELl

3. TR ST Sheted WA= ST g et RmTgIee ShIaT, ¢ &R =1 ™ 222 Wil
TS T . 12

¥. 31) o AT Aol A1 TedH Tt shrret, L1y = et &R (8) I @R Feamten

TIE T TSR . 8
ot

31) BT INEFATE HRTG TS A, 8

) ohgr Toshl R FRIGTRTA. TR A Eill ST 1. 4
ot

F) “‘SAraR-Tafasy’” St “Trerarta forsht’” = wa T . 4

G, ¢ ZHG’ ST “SATHeye SoE’ RIS h ? TYE S held il IR ¢ G|
! 3

SHEITHTS! oI W U T ? 12
e
4. 37) T @ FwATh | (TIN) IR A fofe. 6

9) “Heuafdd s’ FEUS HE 7 AT HI TS 0T 7 6



[3969] - 55 10- AR R A

&. 1) ot SR T AT forsht IATETA . 4, 00,000 IR, AW Wiefid ol s7add
e
) TR €. R,00,000 JATMT
i) TR ST JUTRY SITeuft ATt R 34 €. ?,%%,¢00 /-,
forsht forsTermet forsht st Taraaraut TrwTferse hotelt ATa.
T & % TTed T hld Tarshl s mriaid s STRicd shial. 4
fehar

&. 1) O Uik Tfegad fot. AnTR “Hier afet feed enfo e’ = 3eured @ forshi sheama.
Y felat 00% ALY &, 44,00, 000 TohmdI=aT AR aiex feed s foredim=h forsh
qiures (9.9, ) Fefie Ui ureh ” gieetell shefl WERR g0l Fieie SATIRT Togd.

%. 94,00,000 forghl FeRAHES IWRUM Y[eah &. £, 00,000, IJTATE]CH . 9§, 000 (0T
Feoft W= % . 4, 00 0 FHTIISE T4,

3T WTATER HERTSII TR TTfeh farshertran &t ¥ % BIdT. ATTE TS SATETA d 9 hald
IEEIEZEA AR 4

9) wWfeqes & gt s T A ‘@’ g ara F ATl TE IT IR USATA AIHT
%.3,00,000F%. %,00,000 fhATE shefl. @A FRAAHE % TH iz faghia
quTfate BT, Wfede & Wi, I A g J " A A1 9T el Hie U R
IRt TR Seiet Scare Bl ded qo1 A1 =Teeh AT JIAT=A1 @it $00 %
TFRH SCATETEE o T ATHTS! 14k hed Toehat. B! <8, Ul A1 Sk farshea™
IcaTeTe forsht e 31feres U % Taes fohdie s sed, ST 91 fortehies fersheam®
heft, TR g srad A1 forenies Tasher™ e Scdted wat=a 31fesk 20 % fohaca
3T foshet . IeaTeATaR Yerateid s & ¥ % Bl
T TR et STt ST SATed SR 9%, HENTSE Joda elid s SR, 003
IR T AT THS U T -3 3 ThIehed oF 3TTciel qoda od s e, 12

feRa




AR A -11- [3969] - 55

) e Tcish! SATAT=AT=AT THUT WAl o TRUT foshi=n queiiel geiet ST

LENICH R (T .) duvie TR (T )
) Hievfishd SATAT=ATeRg forsht 84,000,000
@i_cﬁ %0,00,000 wﬁjﬁ

T R 22.4% ¢,34,000 82,3%,000 T LR.4% ¢,£9,000 £§,L9,400

) Hieufiehd SMI=AREd W&l R,00,000

(Feaatdd F=wE)
1) Fieuiiehd TS TRl 4,834
T 4,000

Toaartid s 3R.4% &34

V) #1-ieuiieha SATaT=amehgd @idt &,000

V) C‘FI’I&"lIII@ '@i‘tﬁ Ko,000

Wﬁlﬁw % g,000 4,000
TeRUT T 23,409,534 THUT TahT 98,400,400
T THEUTRT €2 - 3T 9 AT=Thed 9F 3T8eial Jeaatdd o el 12

B/l/11/475



